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Example 1: Find the area of a region between two curves

Sketch the region bounded by y =2% — 1, y = —r+ 2, x =0, 7 = 1 and find the area of the region.
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Example 2: Curves that intersect at more than two points

Find the area of the region bounded by the graphs of f(z) = 2® — 322 + 32 and g(z) = 22,
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Example 3: Regard = as a function of y is preferred

Find the area of the region bounded by the graphs of ¥ = 2 — 1 and 3% = 2z + 6.
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Example 4: An application

The birth rate and death rate of a population is modeled by the functions b(t) = 2000”92 and d(f) = 8009,
respectively. Find the area hetween the two curves for on the time interval [0, 10] and explain what this area represents.
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